FLR Panel

ATA-Guard

ATA-Shield
1 width of roll

Plywood Substrate

/2" Movable Clip ’
S

6" Max.

S

Allow for Thermal
Expansion/Contraction

A

Variable Dimensia

#10 x 1" Wafer Head Screw

Eave Trim 3/4"

Eave Trim

FLA111-2:12 to 4:12 Slope
D1=1"
FLA112-4:12 to 8:12 Slope
D1=11/2"
FLA113-8:12 to 12:12 Slope
D1=2"

Trim Board

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445
\ - Mesa AZ

\> 480-558-7210

TITLE .
FLR Eave Detail
2 | 5/31/2019 Updated Clip Information A1z | kri PVE-NO- bR KRK DATE10/2/2014
. ) APP DATE
Note: b 3 denotes CO|OI' Slde. 1 6/21/18 Updated Substrate and Titles MBP MATERTAL
’:fov_' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE XX




Gable Trim Starter Cleat
Gable Trim Cap

Z Closure
S.S. Painted Pop Rivet

Butyl Tape

24" 0.C.
FLR Panel
2" Movable Clip - N
ATA-Guard '
ATA-Shield
1 width of roll '

Z Closure
Butyl Tape
S.S. Painted Pop Rivet
6" o.c FAnchor Clip

/ T

|
gl_‘
<Y j

%

< AP

T—~1 1/2"

21/8"

21/4"

47/8"

-

~————————6

_

LI/Z" O.H.

5"

13/16" x 1/2" W.H.

i 5/ 8" ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

N\ Mesa AZ
Butvl Tape Detail 11/2" ‘_J FLA215-Gable Starter Cleat LN aosssato
tyl Tap ™ FLR Ending Gable Detai
- 2 5/31/2019 Updated Clip Information AJZ | KRK DWG. NO. bR KRK DATE10/2/2014
Note' * denotes C0|o|— side FLA912 Z Closure 1 6/21/18 Updated Substrate and Trims MBP MATERIAL AP DATE
: ! T\‘%{' DATE DESCRIPTION OF REVISION BY | APP SH. SIzE B SCALE XX




Appropriate Sealant

Counterflashing

Appropriate Anchor Fastener

Sidewall Trim\
#10 x 1" Wafer Head Screw
Trim Board {
Butyl Tape
Z Closure

S.S. Painted Pop Rivet
Plywood Substrate 247 0.C.
2" Movable Clip

ATA-Shield
1 width of roll

ATA-Guard

FLR Panel \
- 1\ B

Note: * denotes color side.

RYATATLVLYATY

T—~1 1/2"

21/8"

11/2" ~—J

FLA912-Z Closure

3/8" W.H.

3/4"

4"

Ll/Z" O.H.

FLA980-Counterflashing

6"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

"‘\ : Mesa AZ

Y 480-558-7210

TITLE . . .
FLR Ending Sidewall Detail

2 | s/3172019 Updated Clip Information iz | kri |PWG NO- R Rk " G0/2/2014
1 6/21/18 Updated Substrate and Titles MBP ATERTAL APP DATE

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

SH. SIZE B SCALE

X:X




Appropriate Sealant

Counterflashing
Appropriate Anchor Fastener

Headwall Trim
Field Notched Neoprene

Trim Board
#10 x 1" Wafer Head Screw
Butyl Tape
Sealant
Z Closure
S.S. Painted Pop Rivet
24" O.C.
2" Movable Clip
FLR Panel
Plywood Substrate
ATA-Guard
==
e =
= 0 \ — — = /////// e
“ == . //;i?/////////////////////ii/
—— et
//\( //////////////////i/;/////
3 /22///////;///////////// E
= /////////////////i ~ %

Pre Notched Z Closure

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

N

IAYAVAYAYAVAYY

T—~1 1/2"

11/2" ‘—J

Z Closure

-

Variable
n . .
3/8" W.H. Dimension
! /k
1/2" O.H.
. 1 /zn
21/2"
5ll
3/4" \(/
* .
j Headwall Trim
\ ATAS INTERNATIONAL, INC
Allentown PA
H 610-395-8445
Counterflashing N ess 2
W 480-558-7210
TITLE .
FLR Headwall Detail
5/31/2019 Updated Clip Information iz | ri |PWE-NO- oR KRK DATE10/2/2014
6/22/18 Updated Substrate and Titles MBP MATERIAL e DATE
DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Hip Cap #10 x 1" Wafer Head Screw
Appropriate Sealant

Butyl Tape

Field Notched Neoprene

Pre Notched Z Closure
S.S. Painted Pop Rivet
24" 0.C.

FLR Panel

2" Movable Clip

Variable
Dimension

—11/2" .
h ? A\r/l/z O.:iip Cap

21/8" FLA315-2:12 to 6:12 Slope
D1=6"
ATAS INTERNATIONAL, INC
¢ FLA316-6:12 to 9:12 Slope Allentown SA '
D1=7" 610-395-8445
FLA317-9:12 to 12:12 Slope N\ Mesa Az
1 1/2" ] D1=8" _— 0\ 480-558-7210
N FLR Hip Detail
Note: * denotes color side. e N ™ ke |7 10/3/2014
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized FLA914-Z Closure L S Updated Clp Informaton A2 |IRK MATERTAL - i
: ! T\‘E(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIze B SCALE X:X




Field Notched Neoprene
Z Closure

S.S. Painted Pop Rivet
24" 0.C.

Plywood Substrate

ATA-Guard
2" Movable Clip

i\
\&\

—

\\/

4
|
N

<

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Ridge Cap
Trim Board
Butyl Tape
#10 x 1" Wafer Head Screw
Appropriate Sealant

FLR Panel
IS
O
m— \()§§
ﬁ\% r’
S 7~ -
3 - 7
5
Variable
- = 11/2" A\/1 /2"0.H. Dimension
Ridge Cap
. FLA301-2:12 to 6:12 Slope
2 1/8 D1=7" ATAS INTERNATIONAL, INC
¢ FLA302-6: ézl t% 9:12 Slope Alentown PA
= 610-395-8445
FLA303-9:12 to 12:12 Slope Mesa AZ
1 1/2" D1=9" 480-558-7210
T TITLE

FLR Ridge Detail

DWG. NO. DR DATE
2 | 5/31/2019 Updated Clip Information AIZ | KRK KRK 10/2/2014

- APP DATE
F LA9 1 2 Z C I Os u re 1 6/22/18 Updated Substrate and Titles MBP MATERIAL

T\‘E(\)/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Field Notched Neoprene
Butyl Tape
Sealant
Pre Notched Z Closure

S.S. Painted Pop Rivet
24" 0.C.

ATA-Guard
FLR Panel

2" Movable Clip

r_~

-

—11/2"

21/8"

11/2" —

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

.

FLA912-Z Closure

NN

L

Shed Ridge Cap

Trim Board

Shed Ridge Starter Cleat

Plywood Substrate

#10 x 1" Wafer Head Screw

61/2"

R

3/4"

T o

FLA349-Shed Ridge Starter Cleat

Variable
Dlmen5|on» 6 5/8"

13/16" x 1/2" W.H. A

FLA346-Shed Ridge Cap

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

"‘\ : Mesa AZ

Y 480-558-7210

TITLE

FLR Shed Ridge Detail

5/31/2019

Updated Clip Information

AJZ | KRK

6/27/18

Updated Substrate and Titles

DWG. NO.

DR DATE,
KRK 10/3/2014
APP DATE

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY | APP

MATERIAL

SH. SIZE B SCALE X_X




Gable Starter Cleat

Gable Trim

S.S. Painted Pop Rivets
24" 0.C.

FLR Panel
ATA-Guard

ATA-Shield
(1 width of roll)

#10 x 1" Wafer Head Screw / _
,,8:: ,,,,,, == = == ?,?,{,,,,,:,,: ,,,,, /4 === e é ,,,,,, == ==
::?::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::::: = - - - - -~ - -~~~ - - - ”-”"”_ """ """ ”"”-”"”"-”-”-”--=--°<-
Trim Board N

Z Closure g
S.S. Painted Pop Rivet 6" O.C.

6"

*
1/2" O.H. ——

Butyl Tape ?

2" Movable Clip *@ %\
\ 478" | 13/16" x 1/2" W.H.
11/2" ﬁ 41"

— == == == == === 21/8" ATAS INTERNATIONAL, INC
e / X Allentown PA
CCEe - - - - ----C-C----C----C-C--------ZZZ-Z¢z ¢ _ 610-395-8445
7 FLA215-Gable Starter Cleat D\ S et
—11/2" "™ FLR Starting Gable Detail
Buty Ta pe Detail pueto: ™ vk |""10/3/2014
Note: * denotes color side. FLA912-Z Closure e it e e - 5 e X




Wall
Appropriate Sealant

Appropriate Anchor Fastener

Counterflashing (anchor where appropriate)

Sidewall Trim
/ FLR Panel
S.S. Painted Pop Rivets 24" O.C.
£ P 2" Movable Clip

Trim Board

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

Z Closure

S.S. Painted Pop Rivets 4"
6" O.C.

 buy Tape )\ 3/8" W.H.
It = 1/2" O.H. 4
11/2" ﬂ 21/2"

&
FLA411-Sidewall Trim

ATAS INTERNATIONAL, INC

Allentown PA

610-395-8445

‘\ - Mesa AZ
480-558-7210

b ol ol

‘ 21Tl8" >§*
= i

¥ FLA980-Counterflashing

Butyl Tape Detail —11/2° ™ FLR Strting Sidewall Detail

DWG. NO. DR DATE,

FLA9 1 2 'Z CIOSU re K DATE10/3/2014

Note: * denotes color side. 1| 53172019 Updated Clip Information NZ | KRK (WATERTAL

=

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




Variable Y
Dimension 1/2" /)\

1 7/?6"\

9 15/16"

FLA800-Valley Trim

90°

ATA-Guard

ATA-Shield
(1 width roll)

2" Movable Clip

Plywood Substrate
Butyl Tape

#10 x 1" Wafer Head Screw

Joggle Cleat

Trim Board
11/2"
1/4"
~e Z P 1 1/2"4
Ve
FLA976-Joggle Cleat
ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
\ : Mesa AZ
VR 480-558-7210
TITLE .
FLR Valley Detail
2 5/31/2019 DESCRIPTION OF REVISION AJZ | KRK DWG. NO. DR KRK DATE10/3/20]_4
Note: * denotes color side. R e ::PSHE ::ILEE
NO.|  DATE DESCRIPTION OF REVISION BY | APP ’ B X:X




Appropriate Sealant

Appropriate Anchor Fastener

Counterflashing (anchor where appropirate)

Vented Headwall Trim
Field Notched Neoprene

S.S. Painted Pop Rivet 24" 0.C.

\

ATA-Guard
FLR Panel -
2" Movable Clip
Plywood Substrate
iéo// ¢ -
\ A
_— = ////,

//d
|

Pre-Notched Vented Z Closure

Note: * denotes color side.

=S|

BAYAYAYAVAVAYA

Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized.

/Appropriate Sealant

Butyl Tape
/ #10 x 1" Wafer Head Screw

/Trim Board

—2 1/4"

21/8"

11/2" _J

3/4"

FLA980-Counterflashing

X

o

e 4
Variable
Dimension
3/4"
AL e Y g

FLA999-Vented Headwall Trim

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

FLR Vented Headwall Detail

Vented Z Closure :

5/31/2019

Updated Clip Information

A7 | KRK DWG. NO. DR KRK DATE10/6/2014

6/25/18

Updated Model and Dimensions

APP DATE

x© MATERIAL

REV.
NO.

DATE

DESCRIPTION OF REVISION

SH. SIZE B SCALE

BY | APP

X:X




Note: Start/End Vented Z

Closure runs with at least 2'-0"

of Non-Vent Z Closures.
Vented Ridge Cap

Field Notched Neoprene
Vented Z Closure

S.S. Painted Pop Rivet 24" 0.C.
2" Movable Clip

FLR Panel L7

Pre Notched Vented Z Closure

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized.

#10 x 1" Wafer Head Screw
Butyl Tape
Appropriate Sealant

ATA-Guard

§ Plywood Substrate

W
o iy
L

Variable
Dimension

j/ 1/2"
e

L 3/4"  Vented Ridge Ca
T g P

FLA322-2:12 to 6:12 Slope

5/8" 21/8" D1=7 1/4"
ATAS INTERNATIONAL, INC
* ¢ FLA324-6:12 to 9:12 Slope Allentown PA
D1=8 1/4" \ 610-395-8445
FLA326-9:12 to 12:12 Slope \ ] Mesa AZ

480-558-7210

1 1/2" <—J D1=3 1/4" TITLE

FLR Vented Ridge Detail

Ve nte d Z CI 0 S r e 2 | 5/31/2019 Updated Clip Information 2z | kR |PWG. NO. DR CRK DATE10/6/2014
u 1| 6/25/18 Cleaned up Dimensions ie APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_X




/Appropriate Sealant

Vented Shed Ridge Cap

Butyl Tape
Field Notched Neoprene e
Vented Z Closure #10 x 1" Wafer Head Screw
S.S. Painted Pop Rivet 24" O.C.
ATA-Guard B Starter Cleat
FLR Panel -
2" Movable Clip =
Plywood Substrate = i

\

I I
I D1

I I j/ Variable\» D2
ol 1/2"
| u\
b
(

FLA366-Vented Shed Ride Cap

FLA362 - 2:12 to 6:12 Slope

D1=10.5", D2=6" .
FLA364 - 6:12 to 9:12 Slope
" 3/4" D1 = 11.25", D2=6.5"
. FLA366 - 9:12 to 12:12 Slope
' FLA369-Vented Shed Ridge Starter Cleat  b1=1225", D2=7.25"
2:12to0 6:12 SIOpe n "
11/2" ‘—J D1=5.875" 13/16" x 1/2" W.H.
_ 6:12 to 9:12 Slope
Pre-Notched Vented Z Closure it 3y TN T
. . Allent PA
Vented Z Closure Siato 12:12 Slope 610,395 3445
) : Mesa AZ
N \ 480-558-7210
"™ FLR Vented Shed Ridge Detail
Note: * denotes color side. 2 | 5312019 Updated Clip Information Az | KRk [PWG- NO- ;’PRP KRK z:zlo/()/zom
. . -1- 1 6/22/18 Updated model and cleaned up some dimensions JC MATERTAL
Note: Neoprene Closures are not required if Factory Pre Notched Vented Z Closures are utilized. . /DAT/E & S — R:wsm T ST g SE oy






